Dyna-Pack® M = 4 26

OUTLET PORT
/ 3/8 NPTF

ey
/\ b
_/ Rsusk / \
INLET PORT

1/8 NPTF

3/8 NPTF , )! \ ’//

2045




M-426

Ref.  Part No. Ref. Part No.
No. No. Description Req. No.  No. Description Rea.
e saes MOTOR, Electric, 5/8" shaft, AC (consult 1 7 01605 HOUSING, Pump/Motor Adapter (2-5/32" long) 1
factory) 01615 HOUSING, Pump/Motor Adapter (3-11/32" long) 1
2 01139 COUPLING, 5/8" Bore 3/16" Keyway (motor side) 1 8 03156 PUMP ASSEMBLY, Gear Code 62 1
02644 PUMP ASSEMBLY, Gear Code 51 1
3 01603 COUPLING SPIDER, 33/64" Bore 1 02642 PUMP ASSEMBLY, Gear Code 43 1
02640 PUMP ASSEMBLY, Gear Code 42 1
4 01189 COUPLING, 1/2" Bore 1 02643 PUMP ASSEMBLY, Gear Code 05 1
02641 PUMP ASSEMBLY, Gear Code 03 1
5 07760 SCREW, Socket Head Cap1/4-20 x 1" 4
(use with 1605 permanent casting housing) 9 00075 » PARTS KIT, Check Valve (main) 1
07745 SCREW, Socket head Cap 1/4-20 x 2" 4
(use with 1605 sand casting housing) 10 03766 « PARTS KIT, Relief Valve 1
07818 SCREW, Socket Head Cap 1/4-20 x 3" 4
(use with 1615 housing) 11 01208 NIPPLE, 1/8 NPT x 4" 1
6 07817  SCREW, Hex Head Cap 3/8-16 x 7/8" 4 FOR FURTHER BREAKDOWN OF PUMP ASSEMBLY,

SEE PUMP SECTION

US.A.:

MONARCH HYDRAULICS, INC.

P.O. Box 1764, Grand Rapids, Michigan 49501-1764, U.S.A.
Telephone: (616) 458-1306

Telefax: (616) 458-1616

Form No. 2194-93

CANADA:

FLUID-PACK INTERNATIONAL LIMITED

A Part of the Monarch Hydraulics Group

460 Newbold St., London, Ontario, Canada N6E 1K3
Telephone: (519) 686-5300

Telefax: (519) 686-8976

EUROPE:

MONARCH HYDRAULICS B.V.

A Part of the Monarch Hydraulics Group
Postbus 96, 3910 AB Rhenen, The Netherlands
Telephone: (08376) 17171

Telefax: (08376) 14447

Litho in U.S. A.



